BIC

log[ Relative Probability ]

—200

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

0

—100

10*

1000

rm015 2/(410483 —~5047)=0.948

T | T | T | |
i ' BIC 449630 53 ABIC O. OOO AlogP 0.0000 ]
- x 384397.59 Ax 0.000 AlogP 0.0000 -
b - — - — |
r [L_ G —— s 1 BIC
e T i
2
X
| ABIC —108640 1091 :( i
, A? —108640 : -72.3
4957 : 4957 : 5047
A | | AC5 :I | AC5F | |
20 40 60 80 100 120
120 iterations
rm015 2/(410483 —~5047)=0.948
C T T T T T T I
| BIC 449630 53 ABIC O. OOO AlogP 0.0000 |
2 2
___________________ g
"""" 4957 - --- - q-----"4957------QHIFH -
: A I I ACS I - 1 AESF . |
20 40 60 80 100 120
120 iterations
Fe2 18% 7641264 km/s
rm015 BLR 11150 NLR 900 km/s
F T T T T T T T T T f
BLR

Pt

120 iterations

kdh1 8-0ct-2021 14:55



